
ANSWER on Question #69658 – Math – Differential Equations 

QUESTION 

The general solution of equation 

𝑑𝑦

𝑑𝑥
− 𝑦 = 2(1 − 𝑥)  

is 

 𝑦(𝑥) = 2𝑥 + 𝐶 ⋅ 𝑒𝑥. 

Find the particular solution satisfied by 𝑥 = 0, 𝑦 = 0. 

 

SOLUTION 

To find a particular solution it is necessary to substitute the corresponding 

values into the general solution and solve for the constant 𝐶: 

{
𝑦(𝑥) = 2𝑥 + 𝐶 ∙ 𝑒𝑥

𝑦(0) = 0
⟹ 2 ∙ 0 + 𝐶 ∙ 𝑒0 = 0 

0 = 0 + 𝐶 ⋅ 1 ↔ 𝐶 = 0 − 0 = 0 ↔ 𝐶 = 0  

Conclusion. 

The particular solution satisfied by  𝑥 = 0, 𝑦 = 0 is 

𝑦(𝑥) = 2𝑥 

ANSWER: 

The equation 

𝑑𝑦

𝑑𝑥
− 𝑦 = 2 ⋅ (1 − 𝑥) 

has a particular solution 

𝑦(𝑥) = 2𝑥 if  𝑦(0) = 0 
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